R T 3k

W

A

- ~ P
SRAEPN R TREEIES B L BeR RS EEFF A B AE S oA o IR
MPETNEARE - A+ WE2FVH - CHERE - S lpad e B L
TR
AR i I e SNC
SFEPN R

R 973K %% 2o ik~ % 2 R YTIR B RFFETHF MR
(a) * ~ | » R () = 5~ FPHFF
(b) 1 & 4 & ik (g) F#ra
(c) 2 MEFAH % (h) ¥ 6 ~&E 2 EEFIE - %
(d) 8+ P RigE (i) Zrat i

g

7
ANTEER I RBEERD EFLpELD AT R R -
(D.FEBSE 7L FRHIGNPYE BG £

1

(j) B’ 7

B4 3R A

N==cVA 2= Ea

109 & 42 30p(EfFrz) ¥ 34

CEREA I

TEF ~ FREF > Xw L

§(F = 101 120)-

LR iAo

wa (100%)

(a) * ~ ] i3 FF & (15%) () =+ 5~ 3P FF(15%)

(b) 1 & B4 & H A& (15%) (g) rJ 74 4 (10%)

(c) 2 MA_F A4 2 (10%) (h) # &~ L 5 EEFE -~ FF10%)
(d) &5 P 2§ (10%) (1) B & 1~ (5%)

(e) HhAs - = 748 & bekk 3 (5%) () BBH $ &4 1 (5%)

AR - VLR A

(D) Frd L2 24fF 2 € i %
(2).F 7 #F FLI (7 % 2 3 3\; &
OF: D S IEE-X:0-58-F S

g
8,35

® % > —5137 i Fi‘/\r\-f?‘i‘g
@;ﬁh——* SalC R B g A0

C BERTEE

RIS 2P0 BB 2 3 LI
L= 2(150) > # frrss
2.% =

P o R (T e

Lo %d g o

F S B2 AL 800~ FHFEE L LES
(2 51) > @ EFIEAEE Bk B2 AL 600 ~ T Aiﬁi‘r‘&,k :

3.5 2 £(370) 0 {FBITRAEH K Z g]hwa S00 = » drHFk EE A S =
Fﬁr erf’#? %Emﬁﬁlhéi)ﬁ A ] V‘fj“4 )

KETHFIBET pA T P T R



S
oo
4%
-h_\\
| \\
4%
1\5
W
b
(7
e

TR ATIE B LA

HEFE 2 Xt 109/4/15 70 $iw 3% ¢ %




